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A 62,187,734 52,933,284 9,254,450 17.48%
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=) 6,000
Al 16,135,054
oot - =2 12,513,927 10,925,033 1,588,894 14.54%
J| 9,471,111
=) 6,000
Al 3,036,816
FEHINLEEYH 29 176,640 41,000 135,640 330.83%
J| 135,640
Al 41,000
SHNLELESH 2S (=ML ELSIAH) 176,640 41,000 135,640 330.83%
J| 135,640
Al 41,000
Not=SE3 A= 2,801,816 2,683,531 118,285 4.41%
< 6,000
Al 2,795,816
Not=Sg3d2d (Xot=SL3) 2,801,816 2,683,531 118,285 4.41%
< 6,000
Al 2,795,816
HPes (22 M) 9,335,471 8,000,502 1,334,969 16.69%
J| 9,335,471
WEAHAHXS(=EHLEELSIH) 9,335,471 8,000,502 1,334,969 16.69%
Jl 9,335,471
MHegs(ot=1t) 200,000 200,000 0 0.00%




2017H T 2olat JIEISEEH FA Sl EA)
20b- B2 - ALY - AL (31H) o & o HET ol ooy 2
zus
WS HHTE (TS +=23H) 200,000 200,000 0 0.00%
Hole 13,008,238 13,647,179 A548,941|  A4.02%
HOISHEIALASSHEN 29 13,008,238 5,948, 179 7,150,059 |  120.21%
HOISHIANLASSESI N 2 (HIISHe 13,008,238 5,948,179 7,150,059 |  120.21%
NEVEEELD D
NEEN 4,413,509 4,390,462 23,047 0.52%
= 475,562
= 150,946
Al 3,787,001
NEMBEE 75,000 60,000 15,000  25.00%
WeREs (MBI 75,000 60,000 5,000  25.00%
BHNE(AR20IIBELSHE 75,000 60,000 15,000  25.00%
SESTEVE 4,338,509 4,330,462 8,047 0.19%
= 475,562
= 150,946
Al 3,712,001
J2ZUHIIBEILSHEN 29 4,338,509 4,330,462 8,047 0.19%
2 475,562
= 150,946
Al 3,712,001
230IBTHSHEN 2Y(2 4,338,509 4,330,462 8,047 0. 19%
ZHSEEN)
2 475,562
< 150,946
Al 3,712,001
+520E 32,068,545 30,662,420 1,406, 125 4.59%
Al 29,140,000
iH 2,928,545
SANEE 32,068,545 30,662,420 1,406, 125 4.59%
Al 29,140,000
T 2,928,545
CABEAY S 29 32,068,545 30,662,420 1,406, 125 4.59%
Al 29,140,000
T 2,928,545
SANECTAY SEIH 2Y(CABCAYSH 32,068,545 30,662,420 1,406, 125 4.59%
3 A)
Al 29,140,000
i 2,928,545
2EATANY 9,728,986 9,292,692 436,294 4.70%
N Al 9,728,986 9,292,692 436,294 4.70%
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